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public abstract class Shape
{

private Graphics g;
protected Pen pen;
protected SolidBrush brush;
protected Rectangle area;
protected Point[] vertices;
public Shape(Graphics g, Pen p, Rectangle area)
{

this.g=g;

this.pen = p;

this.area = area;
}

public abstract void Draw();
}
public class Line : Shape
{
public Line(Graphics g, Pen p, Rectangle area) : base(g, p, area)
{
vertices = new Point[2];
vertices[0] = new Point(area.X, area.Y);

vertices[1] = new Point(area.X + area.Width, area.Y + area.Height);
}
public void Draw()

{

this.g.DrawLine(pen, vertices[0], vertices[1]);
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public class Triangle : Shape
{
public Triangle(Graphics g, Pen p, Rectangle area) : base(g, p, area)
{
vertices = new Point[3];
vertices[0] = new Point(area.X, area.Y);
vertices[1] = new Point(area.X + area.Width, area.Y + area.Height);
vertices[2] = new Point(area.X - area.Width, area.Y + area.Height);
}
public Triangle(Graphics g, SolidBrush b, Rectangle area) : base(g, b, area)
{
vertices = new Point[3];
vertices[0] = new Point(area.X, area.Y);
vertices[1] = new Point(area.X + area.Width, area.Y + area.Height);
vertices[2] = new Point(area.X - area.Width, area.Y + area.Height);
}
public void Draw()
{
if (pen != null)
this.g.DrawPolygon(pen, vertices);
else if (brush != null)
this.g.FillPolygon(brush, vertices);
}
}
public class Quad : Shape
{
public Quad(Graphics g, Pen p, Rectangle area) : base(g, p, area)
{
vertices = new Point[4];
vertices[0] = new Point(area.X, area.Y);
vertices[1] = new Point(area.X + area.Width, area.Y);
vertices[2] = new Point(area.X + area.Width, area.Y + area.Height);
vertices[3] = new Point(area.X, area.Y + area.Height);
}
public Quad(Graphics g, SolidBrush b, Rectangle area) : base(g, b, area)
{

vertices = new Point[4];
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vertices[0] = new Point(area.X, area.Y);
vertices[1] = new Point(area.X + area.Width, area.Y);
vertices[2] = new Point(area.X + area.Width, area.Y + area.Height);
vertices[3] = new Point(area.X, area.Y + area.Height);
}

public void Draw()

{

if (pen != null)
this.g.DrawPolygon(pen, vertices);
else if (brush != null)

this.g.FillPolygon(brush, vertices);

}
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public Shape(Graphics g, SolidBrush b, Rectangle area)

{
this.g = g;
this.brush = b;
this.area = area;
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public partial class ObjectDataForm : Form
{ /] BIH4E)
private void button1_Click(object sender, EventArgs e)
{
ObjectForm o = new ObjectForm();
0.0Owner = this;
0.Show();

}
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public partial class ObjectForm : Form

{
/BTN
private void listView1_SelectedindexChanged(object sender, EventArgs e)
{
((ObjectDataForm) this.Owner).button1.Text = listView1.Focuseditem.Text;
this.Close();
}
}
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partial class Form1

{

private void InitializeComponent()

{
this.label1 = new System.Windows.Forms.Label();
this.label2 = new System.Windows.Forms.Label();
this.label3 = new System.Windows.Forms.Label();
this.textBox1 = new System.Windows.Forms.TextBox();
this.textBox2 = new System.Windows.Forms.TextBox();
this.SuspendLayout();

this.label1.AutoSize = true;
this.label1.Location = new System.Drawing.Point(11, 43);
this.label1.Name = "label1";
this.label1.Text = "10%I "

this.label2.AutoSize = true;

this.label2.Location = new System.Drawing.Point(11, 84);
this.label2.Name = "label2";

this.label2.Text = "2 &I £"

this.label3.AutoSize = true;

this.label3.Location = new System.Drawing.Point(210, 94);
this.label3.Name = "label3";

this.label3.Text = "(2)";

this.textBox1.Location = new System.Drawing.Point(84, 41);
this.textBox1.Name = "textBox1";
this.textBox1.Size = new System.Drawing.Size(120, 21);

this.textBox2.Location = new System.Drawing.Point(84, 84);
this.textBox2.Name = "textBox2";
this.textBox2.Size = new System.Drawing.Size(120, 21);

this.AutoScaleDimensions = new System.Drawing.SizeF(7F, 12F);
this.AutoScaleMode = System.Windows.Forms.AutoScaleMode.Font;
this.ClientSize = new System.Drawing.Size(264, 155);
this.Controls.Add(this.textBox2);

this.Controls.Add(this.textBox1);

this.Controls.Add(this.label3);

this.Controls.Add(this.label2);

this.Controls.Add(this.label1);

this.Name = "Form1";

this.Text = "10%l= 2%I4= HEHT|";

this.ResumeLayout(false);

this.PerformLayout();

}

public partial class Form1 : Form

{
public Form1()

{

InitializeComponent();

}
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private void textBox1_TextChanged(object sender, EventArgs e)

{
textBox2.Text = ToBinary(textBox1.Text);
}
private void textBox2_TextChanged(object sender, EventArgs e)
{
textBox1.Text = ToDecimal(textBox2.Text);
}
private void textBox1_KeyPress(object sender, KeyPressEventArgs e)
{
int value = 0;
e.Handled = lint.TryParse(e.KeyChar.ToString(), out value);
}
private void textBox2_KeyPress(object sender, KeyPressEventArgs e)
{
var validKeys = new[] { Keys.Back, Keys.DO0, Keys.D1 };
e.Handled = !validKeys.Contains((Keys)e.KeyChar);
}
private string ToBinary(string value)
{
/lvalue2| Lbxd R(NM LIHX|(%)E ol&sto] AEls& o|FlsZ HHHEL
}

private string ToDecimal(string value)

/I o: Math.Pow(2, 3) = 23 = 8& 0|&35t01 O|ZI+E AlZIs+ZE b &L

2)10 1010,

25 0 =1*22+17*2!
—— =8+2 =10

2)2 1 X

2)1 0 1111,

=23+ 22+ 21 + 20

=8+4+2+1 =15
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Z£2 5l ToBinary H|AEQ| LK IAEE =HdslaL (20H)

=
// valueQ| Lt R(/)3} LIHX|(%)E 0|8%t0] MTI+E O|T+2 HHYECL

private string ToBinary(string value)

{ int number = int.Parse(value);
int quotient = number / 2; /I Lol =
int remainder = number % 2; /Il Lhz ol LM R|
/I ROl 12t ZobX|H LIHX[EH E24F; ofLlH K2 ASsiM o LHF1 LIHX|B =4
if (quotient < 1)
return remainder.ToString();
else
return ToBinary(quotient. ToString()) + remainder.ToString();
}

6) 2%l+=5 10%l+=2 E™SI= ToDecimal HAEQ| LR AEE EH/g5tal. (207)
// Ol: Math.Pow(2, 3) = 273 = 85 O0|&%}0| O|TI+F MI+2 HHYFECLL

private string ToDecimal(string value)

{

int number = 0;

for (inti=0;i<value.Length; i++)

{
if (value[value.Length - 1 - i] =="0") continue;
number += (int)Math.Pow(2, i);

}

return number.ToString();
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